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Section A: Multiple Choice Questions (MCQ) 20 x 2 marks
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Section A : Multiple — Choice Questions (20 x 2 marks)
Choose the correct answer and write the number 1, 2,3 or4in the
brackets.

1. What is the missing'-'mjrﬁbi%rin the number bond below?

E_"? ’
(1y 1
(2) 6
@) 7
4) 8 ¢ )

2. Which of the following number _séntences best describes this

picture?
. aQt, (ﬁ SRS
éa}’ @;S @Go ;ZIE
(1) 3+2=5
(2) 5+2=7
(3) 5-3=2
@) 7-3=4 )

3. 7lessthan45is

) 33
£2) 35
(3) 38

(4) 352 ' ¢



4. Which one of thefollowing number statements: shows: -

3 fours?
(1) 3+4
2 3+#3+3 :
(4) 3+3+3+3 B S (

9. Nancy shares the lol!lpops equaﬂy w:th her 3*‘fnends How
many Iolhpops will: each of. them get?

(1) 1

@) 2

(3) 3 E
(4) 4 (

6.  Study the clock face carefullj}.

The time is

(1) 1o'clock
" (2) 12 o'clock
(3) half past 1
(4) half past 12 (



7. Whichione of the following pictures shows:50¢7?

How many more circles than rectangles are there in this

figure?
(1) 1
2) 2
(3) 3
4) 4 (



9.

10.

Which of the-following shapes appear three timies in the box
below?

(1) circle -

A2) éﬁiﬁar*e,._ )
7(3) trangle .- |
(@) rectangle C

Which animat is 3" from the right?

lion monkey dog elephant ostrich mouse
' L T L . Right

(1) dog

(2) lion

(3) mouse

(4) elephant ' ,, ( )

>



(1) $26

(2) $27

(3) 7§35

(4) $40 - . (=

12“ i Studythe dsagrams éarefui‘;lﬂf.ﬁ

+ =16
VA @ + @ .
- Q-

~ (1) 5
“(2) 15
3) 29
(4) 37 (




13. - Study the diagrams carefully.

The pencil is. - @long@ntham,;the eraser.
(1 7

2) 10

3) 3

(4) 4 (

14. Inarace, Amos is 2" from the finishing fine and 9" from the
last boy in the race. How many children:tan in the race?

(2) 9
3y 10
4) 1% (

15 The picture graph shows the number 6f pizzas made by 4
children, o :

. | Anna _

&

{Belle 7

| Cinidy

.| Danhnie -

stands for 1 pizza
Which 2 girls made 10 pizzas altogsther?

(1) Anna and Belle

(2) Cindy and Belle

(3) Cindy and Dannie =
(4) Anna and Dannie {



16.

17.

- The'tiiass 6f onasd

Study the diagram carefully.

(1
2) 2
3) 3
“4) 4

Four toys are placed Op:"{hfooden boxes m
Which of the following toys is the shortest?

v ‘

;5

~Charmender % C3PO

N T

Each ' standsfor 1 umt

(1) C3PO

(2) Ben10

(3) Charmender
(4) Transformer




18.  Put 14 apples equaily into 2 -boxes.

(ele] éé 666666
felon

ng‘tﬁanyaples are there in each box?

1) 7

@) 2

3) 3 |
@ 4 ¢ )

19. Look at the scales below.

Arrange the objects from the heaviest to the lightest.

(1) A/B,C,D
(2) B,AC,D
(3) C,D, A B
(4) D,C,AB (S



20. Gavin, Hans, lan, James.and Kail are at a b‘us-—stcp-'Té find
out where James is, use the clues below:

e

Clite'1: Gaviriis betwaen Karl and fan.
Clue 2: Jamesis in front of lan.
| Clue 3: Hans is behind Karl. -

James is in the position. -

(1) Ast-
(3) 3rd ‘ |
(4) 4th | | .

DU H ) "? H :‘;__' -



Section B : Open — Ended: Questions (20 x 2 marks)
Do the following questions.

21.  Write the following in numerals.

(a) forty- seven = |

(b) thirteen . .=

22. Sean caught 25 tadpoles. If he puts 5i'tadpoles ln a pelastic(
cup, how many plastic cups will he need?

><.
It

10



24.  Complete-the subtraction-sum:beélow. ; .

Ans o
25. Whatis the number in the box?
59
+ 2 2
8 5
Ans :

26. Wel Jie had 24 triangles. He gave away some trlang{es and

 was left with 13 triangles. Circle the number of triangles he:
gave away

AN ADAA AN
[ AY AWAVANAVAW.N S
A /\ A A /\ Ay /\ /\




27.

What is the missing item in the pattern? Circle the correct

-

answer.

28. The.number bonds given below have the same pattern.
Find the missing number. ' '

29.

fens

Ans : _

30.  Ronald is thinking of a 2-digit number.
The digit in the tens place is 3 less than 7.
The digit in the ones place is 4 more than the digit in the tens

place.

What number is Ronald thinking of? .
Ans : ’
g1




31. Look at the.scales below:- .

Object Z is lighter than Object

JANg

| 32.  Which clock face Shows half past 11?2 Put atick in the box
betow the clock face.




- 33. Barry takes alt the apples from the second basket on the right.
He then puts all the apples into the second basket from the
left.

- a) Count the number of apples in baskets:B and C now.
b) erte the number in the boxes belew ' *

right
Basket A - - -Basket B Rasket C ‘Basket D
: s .
34. Study the diagram below.
3 7 o F;'ﬁemzif
 THé total lenigth of the pencil, erasér and chalk'is o]

"Ans i




35,

36.

Look at the pictures given. Mr Tan spent a total of $40

/ Whlch 2 |tems did he buy’?

Ans :

and

The picture graph shows the favourlte recess activity of

18 boys

. LBadminton' Catching

.. Reading

Each @ stands for 1 boy.

Draw the correct number of tfo represent the number of

boys who like to play badminton.




37. Study the péttem below. How many dots. will there be in.
Figure 47 i -

Figure1 Figure 2 Figure 3 Figure 4

“Ans

38 John_ has a total of 8 notes and coins in his pocket. The

amount of money he has is $9. Circle the correct number of

‘notes and coins to make $9.




39.

40.

- Look at the number pattern betow

Find the value of A.

100 , 98, 94 , 88 , A , 70

Tbg:e are 10 children in a queue. Val is 3" from the front.
Pam is 4" from the back. How many children are between

'Val and Pam?

YARS o




Section C (5 x 4 marks)
Solve the word problems.

41.

42.

Lionel'had.some stickers.

He gave 15 stickers to his friend and 26 étickers to his sister.

‘Howmany stickers did he have atfirsior

He had _-stickers at first.

Mira has 38 paper c!_ipsf.
She has 9 fewer paper clips than Sue.’
How many paper clips do they have altogether?

They have paper clips altogether..
| 18

A



43. Mrs Koh puts 4 pies in a plate. . o
a) How many pies are there in 6 plates? =

b) How many pies are left if she gives away 9 pies?:

{

o N
\ S S S /

IR RS DS SRR R )
o it e e ST : EELRNS

NSEEE \oree \pverd oyt
BRI M P R I B S )
T /“ B

{0, TR, IS, £, | L ST A, cE IRy, PR,
S et OrEerrEl \Cronir] NSRRI 1 NG s b/ AR A8,

\ <P ST AT, B Sy, G, )
NS Sy oaene oweay

A D B TR AP B TR,
Ny Syread oo \Prrase

There are pies altogethér.

b)

She has . .. pies left.




44 John had $40.

He bought a balf and

a) Hew much money did-he spend?

| ] 1 for $8

| a burger.

He spent $

- b) Circle the amount of money John had laé |

SINGAPORE _

e ;‘.':{!

RN

20

20

44



45. The picture below shows the number of dots formed around
rectangles in each figure. : :

EA—@

@6 e 0 6 . b b 6 b

b - S

Figure1 Figure 2 Figure 3

(a) Complete the table below.

Figure number K 2 3 4

Number of dots B ‘:;\.-,;._9'

(b) How mapv dots are there in Figure 67 . .

Ihere,aref o . . . dotsinFigure 6.

© END OF PAPER ©

PLEASE CHECK YOUR WORK!
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QL | Q2 | Q3 Q4| Q5| Q6| Q71081 Q9 |QI0|Q11|Qi12]|013]|0Q14|0Q15]|016(0Q17
3 2 3 3 2 1 4 2 3 4 1 2 4 43| 2 4 3

Q18] Q19 [ Q20
1] 4|1
21a) 47 21b) 13 22) 5 23)5x4 = 20 24) 2 25) 6

26)
AYA
| JAYA
AAA
27) ,
San@n)anfan

28) 21 29) 10 30) 48 3 W
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Answer Key


32)

33a,b) Basket B: 7
Basket C: 0

|

34)8 35) shoe and bag

37) 10

38)

39) 80 40) 3

36) Badminton: O Q

41) 15 + 2 = 41
a1 +31 =72

42)38 + 9 =47
47 + 38 = 85

43a)6 x4 = 24

44a) $8 + $7 = $15

43b) 24 -9 = 15 44b)
$10 $5
$10
453) .
Figure no. i 2 3 4
No. of dots 6 9 i2 15

45b) Fig. 5 218 dots
Fig. 6 > 21 dots
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